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1 B2 18—21 SiEHEEkS
2 | SUPER SONICS 22—20 GREBES
3 B 13—21 FBALAR=TLL
4 ERYIRS 12—21 | SUPER SONICS
5
6 GREBES 18—21 fBAERKSTLL
7 5EEh 22—2(0 | SUPER SONICS
8 EEHERS 190—21 GREBES
9 | SUPER SONICS 21—4 fBAERKSTLL
10 B2 17—21 GREBES
11 SRk 21—15 NBAERY% ST LU
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1 | SUPER SONICS 21—11 GREBES
2 NBALRk=TLL 19—21 B2
3 EEYIRS 13—21 SUPER SONICS
4 GREBES /7—21 fBAERKSTLL
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6 SRk 16—21 B2
7 EEYERE 18—21 GREBES
8 | SUPER SONICS 13—21 fBAERR<FLL
9 528 15—21 GREBES
10 SRk 10—21 NBAERY%STLL
11 B 12—21 SUPER SONICS
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